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Run 5500 mpswise, BCM: All Run 5500 mpswise, BCM: Beam OFF
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Run 5500 mpswise, bpmAx: All Run 5500 mpswise, bpmAx: Beam OFF

[

x10
140 [ Entries: 268224 B Entries: 8124
[ J Mear: -0, 2370 «/- (L0001 500 _— Mear: -0.4322 o 0012
120 — B
— Std Dev- 00416 +- 0.0001 — Sid Dev- 01097 +- 0.0000
100 — 400 |—
80— =
— 300—
60— -
L 200—
40— —
- 100|—
20— —
'D I_ | | 1 1 | 1 1 1 I 1 1 | -h | 1 | | | | 1 | | | | | | D I_ | L | | | 1 | —DJ-LIL | 1 | —h | | | | J. |
0.8 0.6 0.4 0.2 0 0.2 0.4 0.8 0.6 0 0.2 0.4
bpmAx bpmAx
Run 5500, mpswise, bpmAx: Beam ON, Laser ON Run 5500, mpswise, bpmAx: Beam ON, Laser OFF
: - Entries: 149446 E Eniries: 48411
12000 — h 7000 |—
| Mean: -0.2305 o 00000 — B Mean: -0.2205 /- 00000
- Std Dev: 00058 +- 0.0000 — ] Std Dev: 00058 +- 0.0000
10000 — _ 6000 —
B I 5000 [—
8OO0 — —
N 4000 —
6000 — | AL I -
B 3000 —
4000 — il - I
B 2000 —
1 [
'D_"'l""lJ_ e A N TN TN N NN TN NN M N A =1 PR I I I T T I e A NN T TN NN NN TN B B = [P I I
-0.25 -0.24 -0.23 -0.22 -0.21 0.2 —EI.ES- -0.24 -0.23 —0.22 -0.21 0.2 —0.19



0000

60000

50000

40000

30000

20000

10000

Run 5500 mpswise, bpmAy: All

_I.III|IIII|IIII|IIII|IIII|IIII|IIII|IIII

Enlries: 269224

Mean: 04567 +- 0.0002

Std Dery: 00798 - 0.0001

o
i

BO0OO

000

G000

5000

4000

3000

2000

1000

Run 5500, mpswise, bpmAy: Beam ON, Laser ON

Enitries: 149446

Mean: 04687 +- 00004

Sid Dey: 00250 - 00000

Run 5500 mpswise, bpmAy: Beam OFF

'Eﬂ':" __ Enitries: 8124
[ Mean: 00546 +- 00018
500 :— Sid Dev: 0.1485 +.- 0.0012
400
300 —
200
100 —
D—[I [ I|.-._FJ-|II|J-._J.I|
—0.4 0.2 0.6 0.8 1
bpmAy
Run 5500, mpswise, bpmAy: Beam ON, Laser OFF
: Entries; 88411
E000 [ Mean: 04682 +/- 00001
~ Sid Dev: 0.0245 +- 0.0001
4000 —
3000 —
2000 —
1000 |—
ol '
0.35




Run 5500 mpswise, bpmBx: All Run 5500 mpswise, bpmBx: Beam OFF
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Run 5500 mpswise, beam ON, laser ON
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Run 5500 mpswise, beam ON, laser OFF
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Run 5500 mpswise, beam ON, laser ON
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Run 5500 mpswise, beam ON, laser ON
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Run 5500 mpswise, beam ON, laser ON
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